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1. Briefly answer any five of the following 

questions :  5×2=10 

(a) What is uniformitarianism ? 

(b) What is Applied Geomorphology ? 

(c) Define Karstification. 

(d) What is Caldera ? 

(e) List the subdivisions of Himalaya. 

(f) Differentiate between continental crust 

and oceanic crust.  

(g) List the land masses where paleontological 

evidences have been found that support 

continental drift theory.  

(h) Differentiate between paramagnetic and 

ferromagnetic materials. 

(i) Name any four major continental plates.  

(j) List the tectonic features of the Indian 

Ocean. 
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2. Write short notes on any four of the  

following :  4×5=20 

(a) Advantages of using geomorphological data 

(b) Airy’s hypothesis of isostasy 

(c) Root wedging 

(d) Any five notable landforms of India which 

are of major tourist attractions 

(e) Precambrian shields 

(f) Geomagnetic coordinates 

(g) Mantle plumes 

(h) Benioff zone 

3. Answer any one of the following : 1×10=10 

(a) Discuss in detail the evolution of the 

Himalaya. 

(b) Give an account of the proterozoic suture 

zones and faults of Peninsular India.  
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4. Discuss in detail the fundamental concepts of 

geomorphology enumerated  by W. D. 

Thornbury.  10  

Or 

(a) Discuss the landforms similar to volcanic 

landforms. 5 

(b) Give an account of geomorphic evolution of 

river basin. 5  
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      BGYET-147 

foKku Lukrd (lkekU;) (ch-,l&lh-th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-th-okbZ-bZ-Vh--147 % HkwvkÑfr foKku vkSj 

HkwfoorZfudh 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % lHkh iz'u vfuok;Z gSaA izR;sd iz'u ds vad muds 

lkeus fn, x, gSaA tgk¡ vko';d gks] lqukekafdr 

vkjs[k cukb,A 

1- fuEufyf[kr esa ls fdUgha ik ¡p iz'uksaaa ds mÙkj la{ksi esaa 

nhft, %   5×2=10 

(d)  ,d:irkokn D;k gS \ 

([k)  vuqiz;qDr Hkwvkd`fr foKku D;k gS \ 
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(x)  dkLVhZHkou dks ifjHkkf"kr dhft,A 

(?k)  Tokykeq[kh dqaM D;k gS \ 

(Ä)  fgeky; ds miHkkxksa dh lwph cukb,A 

(p)  egk}hih; iiZVh vkSj egklkxjh; iiZVh esa vUrj 

crkb,A  

(N)  mu Hkw[k.Mksa dh lwph cukb, tgk¡ ij ,sls 

vf'ed izek.k ik;s x;s gSa tks egk}hih; 

foLFkkiu fl¼kUr dk leFkZu djrs gSaA 

(t)  vuqpqEcdh; vkSj ykSgpqEcdh; inkFkks± esa foHksn 

dhft,A 

(>)  fdUgha pkj izeq[k egk}hih; IysVksa ds uke 

fyf[k,A 

(´k)  fgan egklkxj ds foorZfud y{k.kksa dh lwph 

cukb,A 
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2- fuEufyf[kr esa ls fdUgha p kj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×5=20 

(d)  Hkwvkd`fr oSKkfud vk¡dM+ksa ds mi;ksx ds ykHk 

([k)  ,jh dh lefLFkfr ifjdYiuk  

(x)  tM+ Hkatu 

(?k)  Hkkjr dh fdUgha ik¡p mYys[kuh; Hkwvkd`fr;ksa 

ds ckjs esa fyf[k, tks izeq[k i;ZVd vkd"kZ.k 

LFky gSaA 

(Ä)  dSfEcz;uiwoZ 'khYM 

(p)  Hkw&pqacdRo funsZ'kkad 

(N)  izkokj fiPN 

(t)  csfuvkWiQ {ks=k 

3- fuEufyf[kr eaas ls fdlh ,d dk mÙkj  

nhft, %   1×10=10 

(d) fgeky; ds fodkl dks foLrkj ls le>kb,A 
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([k) izk;}hih; Hkkjr ds izksVsjkstksbd lhou {ks=kksa ,oa 

Hkza'kksa dh foospuk dhft,A 

4- MCY;w- Mh- FkkWuZcjh }kjk of.kZr Hkwvkd`fr foKku dh 

ewyHkwr ladYiukvksa dh foLrkj ls ppkZ dhft,A 10 

vFkok 

(d) Tokykeq[kh Hkwvkd`fr;ksa ds ln`'k Hkwvkd`fr;ksa dh 

ppkZ dhft,A 5 

([k) unh nzks.kh ds Hkwvkd`frd fodkl ds ckjs esa 

fyf[k,A  5 
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